Q0216 SRR EIE D, ToFH  KOFR

[1=1]
1) 2*<n<2 'L x,
n=by+2by+ - +2"10, +28  LEENHOT,

an=b1<%>l+b2<%>2+...+bk<%>k+<%>k+l ......... @D

£, n—2=b+2b,+--+21, L

1\! 1)\2 1\
an—zk:bl<5> +b2<3> _}_..._}_bk(?) ......... ®)

O, @&V
1

k+1
an=an_2k+<7> )

2) 2f<n<2"l DL %,

1 1 1\2 1\*% 1 k+1
an=bilz) +olg) +rulz) +(g)
2°0,+ 28y + 20,4+ 1
2k+1

22T, (by, by, -, by OMIT 1SiZRICKILT, b;=0F7/1%1 kv 28H
HY, 17, b=1 (1<i<k) ¢R2MIT25EAH LD,
ok+1_q 1

Y g, = 2,e+1{(2’€+2k—1+---+2)><2’?—1+1><2’?} = 2%-1

n=2%

2k+1_1

Tk: 2 ap k‘d—ék

n=2%

6
5130240+01+/§1Tk+4128+ @129+ Q13

1)\8 1)\8 1)\8
::T‘\, (1) 75)% a128:a0+<_> , a129:a1+<_> s a130:a2+<5> kiié@?,

2 2
16451
8130 256 </§>
1 1 1 2 1 k 1 k+1
3) an=b1<§> +b2<§> +- +bk<2> +bk+1<§>
ok . l>k+1 l
n=2" oL x an—<2 <4
=1 £713 by=1 DL %, ang%
*7z, b1:b2:O ﬁ)0b3:b4:"':bk:1®k%)
Lfy_ (1
a-Gﬁ%%ﬁw+GY§L%ﬂ Lg_gy<;
"\ 2 2 2 1 T4\ 2 4



N

Q02LEFE BIRUKEE ST, T2 RO

L7chh> T

n<2tDrE bi=b,=0
by, by, b i20, 10 2380 bDHME
a,DE VI 2F 2@y

J:of,an<% O0<n <2F) LAZEORIT 2524 1(%)

(o] [T0O]

o o+l _ ||+ _ _®+3

1 — — -
1) z o+l w+1 lw + 1| lw + 1|

w=a+bi bTHE, 2=

(a+3+b2) XV

lw + 1)

1 1 1 1
S=—. 3)b—ab| = = - :

2 |w+1|2|<a+> abl 2 |lw+1/?
2) @w=+/3(cosf +isinf) &+5%&,
3v/3|sin 8| 3\/—‘ sin @ ‘
4(2++/3 cosf) 2++/3 cosb

g)— — Sinbd 0<0< 2 .
f(0) 27 /3 cosd (0< r) £15

cosf(24++/3cosf)—sinf(—+/3sinf) _ 2cosd +4/3
(24++/3 cosf)? (2++/3 cos8)?

10) =

S:¥|f<a>| Ty osEe=2r Lrcmm Vs

Eﬂ', Eﬂ'fﬁi [—T
E
9 o _ 1 B 2 "
0_67r0)ké°, Z_w—l—l— 2+ 21 c0537r—|—zsm37r
OA= 3 OB:‘ +1‘: 3=¢§
ANOABIXTEA120° O 5530 — A
7 ® _ 1 3. 2 (2
0_67r0)ké°, Z_w—l—l— 5 "o z_cos< 37r>+zsm< 37r>



20214 S UK 2 2

pay

B, TEHS BAE

OA=.3 OB=.3
AOABIFTEA120° D — 550 = A L v

NOABDHENRKE 05 & X DFRIZOA=0B=./3,
LAOB=120°D %50 = AT (&)

[E1]

1) f(x)=a"loga (%)

2 0<k<1otx, A'<a'<(A+1), —1<Ek<00Lx, (A+1)F<a’<A*
)]

S<A>:S°_1{Ax—<A+1> }dx+g (A+1)—A%dx

:[ A*  (A+1) T J{ (A+1)*  A* T
logA log(A+1) log(A+1) logA |
2 2 1 n 1 n A+1 A (5%)

logA log(A+1) AlogA " (A+1)log(A+1) ' log(A+1) logA '~
3) S(A)log A

o logA 1 1  logA __logA
2 ogi A+ AT A+ TogA+D TV Togia+D
ilimS(A)logA
log 1+ )"

—lim<2—2 log A —i—l— 1  logA log A _og( +7>
" Ase log(A+1) A  A+1 log(A+1) log(A+1) log(A+1)
ZZ T,

. log A
hm e A+ 1)
— lim log 4

A— 1
log A +log <1 + 7)

— lim L 1L RBDT

A—oo
L 10g<1+7>
log A
lim S(A)log A=1 (%)

A—oo

)



Q02VFIERSIRFIEFH, T SRS

[E1V]

b 1_(_1>nx2n

0 14 x?

(D0 x<PITHBNTLI+22>18Y
1

1+ x2

jn:g dx

<1

p m b b m—+1
0 14+« 0

}dx

:gP _<_1>nx2n_{_<_1>n—1x2n_2
0 1+ x°

_gf’ (=" x>+ x>

0 1+ x?

_Sp <_1>n—1x2n—2<1 _|_x2>
0 1+ x?

dx

dx

p
=(=1 1| a2-ds

— (1)1 1 2n—1}p
=(-1) [Zn—lx O

—(_1\»—1 pZn—l
== 2n—1



pay

Q02VFIERSIRFIEFH, T SRS

z 1
=./3 _ 1\k—1
V3B -
1 1
[ _1 k—1
3 k§1< ) (2k—1)3%1
o 1
J: < —1)*-1 = BSnz 3 i
1
b 7 &
. % dx B %( 1>nx2n
jn_go 1+x2 SO 1+x2 dx
B 6 SO 1+x2 dx
()& v
1
T 73 x2n 1
| T = — —
(52)=1im~/3 J,
NEE:

=L E )



Q0214 FE B SF I, T

K fig

=

[T 1]

ety o33
rete{3 rx(3 (3 -
>
-

b |

w|»—a

as—O+0+0+1x<

1
16
_ x
16 |

w|»—a
H>$

a9—1><< >+1><<

CEFRT()EFET
QNEFEFT(2)EF T

[T.1]
EFRI & AT

[T1r]

1) (y—7)°+x°=7"
R=r2—(y—p)
=7’ —(y* =297 +77)
=2ry—y*
y=hD L X
mifE S=rxl=n2rh—h?) (&)

KFE V= S:n'(Zry— y9)dy

S=n(27h— h?
dv

—-=a

dt



Q02VFIERSIRFIEFH, T SRS

dv dV dh dh
3 = an ar =0 e=merh—hY) e
.dh a
“dt z(2rh—h?)
1 a
h_EWD}: e x127-ir—<l7>2}
2 2
4a -
—37”,2(;.)
dS dS dh
dt — dh  dt
dh
=n(2r—2h)- 7
h—erDké“
2
1 4
2)2=7T<27’—2-§7’>- 375/2
4a -
—§<m>
[TIV]
1) fl(x)=a"loga (&)

2 0<Ek<1nlx, A*<a*<B*, —-1<k<00&%x, Bf<at<A* LV

KROHEFEEZSET D
S B"}dx+g(1){B"—A"}dx

log A logB |_; logB logA |

2 2 1 1 B A

- logA logB AlogA + Blog B + logB logA

_(B=1? (A-1p

= (%)
BlogB AlogA




